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39.1.4
5b (nnyw 7 7373) 2 7a (12277 75 nvp nan)

I Analysis of 2 mwn — example/application of nnyw 7
a  Question: why did the example include, seemingly superfluously — her sitting in bed?
b Answer: teaches that only if she has non is bed itself 1710 (only she is affected)=»if she has ny% nyn, bed is also rno
i Supporting: »1y1, who ruled that if she has »"5yn nrmw, it is 2w 20WN RNV such that they are DTR RNON D> TH2 RNVN
ii ~ Challenge: the bed has no Y85 ny7, therefore pav should be Mnv
1 Answer (»7p1): case is where her friends were carrying her in the bed =»bed is now Pmaan 1 and YRS ny711 W2
2 Furthermore: once 13y "7 ruled that any nkmv with human involvement is considered 58w’ nyT12 v’ - even a ves-
sel sitting on the ground, in our case, we no longer need to posit that she is being carried
(a) Challenge (to »7): if either his n5v or food nearby was &nv (and other 1) and food was in his proximity
when he was wrapping himself in n’ov — pav if he touched or not — 11nv; if touching was inevitable — xnv
(i) Defense: that case was in 1M1 — where pav is knv (even though considered nyT 12 v, as is the nHv)
3 Challenge (to »72»1): Rn»11 — when a woman has »"9yn nkmv, her 2v1m 13Wn are treated like an (that which she touched)
(a) Assumption: infer that just as nyan is not DTR XNYN, so too AWVIN 2DWN are not BTR RNLA
(b) Challenge (837):1"p from n” covered by a”¥;
(i) If: 9”2 qpnn n" is protected in nnn HnR, but not from »*oyn NrMY (of woman without non who sees oT)
(if) Then: certainly beds (etc.) which are not protected in nnn 9nR are affected by »"oyn nrnmv
1. Block: we have the xn» 1 which equates 2v1m 2091 to nyan!
2. Answer: "nyan” means (a person) who touched her, not status of something she touched
a. And: if she touches someone, that person is Xnv and is 0’131 RnVY; so too with 2VIM 23WN (Y1)
(iii) Support (for #27): Rn»12 distinguishing between o7 nx1 and on>
1. o7 /1817: retroactive NRMY (¥"Hyn) — affecting awim 25wn, food and liquid and n”s even if covered by a”¢
a. But: she doesn’t affect her calendar, nor is she Xnvn her 5 retroactively
i.  Dissent: " — she is ®nvn her 511
b. And: she only begins counting days from when she sees
2. ono. retroactive kMY (¥"Hyn) — affecting 2wimy 25wn, food and liquid and n”s even if covered by o”¢
a. And: her calendar is affected, and she is Xnvn her 92
b.  Yet: she only begins counting from the point when she saw
3. In both cases: the nkm is considered pav (no eating nm N, but not burnt — "pP>1N”)
(iv) Question: if X171 knew the Xn»13, why not just invoke it; if not, from where did he get the v'p (from n"2)?
1. Answer: he was familiar — but Xn»91 is insufficent, as it may be read as xnvn “either o or 11" — but not
both (o8 who is then D> Rnon) — therefore, he needed to present his own formulation
I xnn"’s caveat on retroactive nkmv — only affects 0*w1p, not NN
a  Challenge: if, so why not listed among mbyn of wmip (3" naan)?
b  Answer: those listed have real concern for nkmv, unlike here
i Challenge: X1 (above) — she is nknvn food and drinks
1 Assumption: includes nmn as well as DwTp
2 Correction: refers only to mwp
ii ~ Challenge: "1 1 ( 1:R) — when nina finish eating nmn, they should check (implication — nman would be retroactively xnv)
1 Per: n™ —purpose is to allow her to eat remaining crumbs (but not to affect 7915 nmn)
2 &7 77 reads “91w5” — meaning, if she checks within non v (then, if NRNY, burn PN as 'R RNO)
iii ~ Challenge: »a1 ruled like 8™ (who allows nnyw n»7 for the four women, per x:R), after he recalled — can rely on 8™ for 7"nyw
1 And: we commented — that he remembered that n2%n was never decided, yet X" was opposed by a1
2 If: we assume that nm1n was also under the decree of y”>yn, we understand how 11 could address a case
(a) But: there were no mwTp in 727’s time — how could he have ruled about y"yn nrnv?
3 Defense: just as 89 testified that man in %93 (well after 121 — 3t c.) were careful about a1 17 — per wMpn MY
(a) Similarly: they maintained wmpn mnv for their PN
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iv  Challenge: story with 3"1’s nnaw — she was baking “nmn-loaves” and washing her hands and doing np»72 between each loaf
1 At last np13, she found o7
2 When: she asked 3™, he declared all of them to be mxnv, but shen she notified him that she was pT1a between each, he
declared all 11nv except for the last one
(a) Point: here we have an example of »"9yn nrmv involving nmn
(b) Defense: referent is n1in »nn% nmn (1 of each 10 n1in-loaves, given to 103, per T:1 RIPN)
(i) Challenge: how would she have n1in 'nn% nmn? They are designated at nann in n7y
(if) Answer: she may designate them at kneading, per:
1. 22w 77 if "1 NNY are baked as 4 loaves - valid
2. Challenge: we require 40!
a. Answer: that is the ideal; but 4 (one of each kind) is valid
3. Challenge: nmn »nn% nmn must be taken from them - and cannot be a slice, per "nR” (ibid)
a. Answer: could be designated at kneading (i.e. 8 loaves; 1 large and 1 at 1/9 its size of each type)
v Challenge: another story with 3"1’s nnaw — was capping barrels of wine, washing hands and doing np>1a between each nan
1  At:last np13, she found o7
2 When: she asked 3™, he declared all of them to be mxnv, but shen she notified him that she was pT1a between each, he
declared all mnv except for the last one
(a) Point: if this rule applies to both w7 and nmIn, we understand why she asked twice
(b) But: if it only applies to wTp, why ask the same question twice?
(i) Answer: they were two different mnaw
Alternate version (of 81177 7's ruling): »"oyn applies to both nmyn and vnp
i Source: since it isn’t listed in 3”a na»an as a nYyn of WP over NMIIN
1 Challenge (77): we have the statement “only for w1p, not for nmn”
2 Answer (from pny» 772 58w “3): refers to ..n1nv Yy WPV POIN — only if done wTIP NNV Y, not NN NINL HY
Challenge: 2:3 non — if the dough got a nkmv pav before kneading, it should be completed nxmva; if after — complete nnva
i Before: complete n®mV3, as there is no prohibition to cause NN to PHIN in »R
ii ~ After: must be done n1nv3, as there is a prohibition to cause nkmv to nYn/nM1IN in "R
1 And: pom which are nHYnY p91av have the status of non
2 Yet: this nYn is “in limbo” — not eaten (Xnv pav) yet not burnt (may not be knv)
iii ~ Definition (of 78w p90): RaM »aR —needn’t be 50/50 pav, as per 2 roads (1 MY, 1 Xnv and he took one...)
1 In that case: even regular P9 are Rnv pao
2 But in this case, even: case of “leaning”
(a) Per: 2:x mar —if a ar and 1w were offloading or loading a donkey
(i) If: the load was heavy, the 1710 becomes Xnv
(ii) If: the load was light, the 1310 remains so
1. But: in all cases, they are v for purposes of 1210, but are DR1Y for NMIN (11277N)
iv. Challenge (to principle that 7151 n5n5 p212vi poin): kN1 — a woman who is a DY n%2v may knead dough and separate non
and leave it in a basket and then bring it close and declare it to be n%n
1  Rationale: it is a "9, which is v if 5N
2 But: if we hold that non% pYavn p9In are like nYn, her nYn should be xnv
(a) Answer (73X): only in cases where there is certain nrm for P9 did they extend nm to nYnY pHravn PHIN
(i) And:any »2vis not PN RNYN Pno N affecting NHNY PHIaVA POIN
(b) Challenge: y"5yn in nm which is P9I ®noN yet they weren’t 91 on nYNn5 pH12VN PN
(i) Per: pnx> 9”2 Y9Rnw "1 (above) — doesn’t apply to NN NNV HY WYV PHN
(c) Answer: in that case, there is no nmIn mixed in; here, NN is mixed in
(d) Alternative answer: »"ovn is all 32771 —they treated it more leniently
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